TRHAG P UTA=Id ST 0T B

3.16 x 40% =

2.28 x 60% =

2.52 x 30% =

2.48 x70% =

7.4 x 60% =

4.59 x90% =

0.21 x70% =

6.6 x 30% =

2.65 x 10% =

747 x70% =

9.92 x90% =

9.55 x40% =

1.91 x 50% =

5.92 x30% =

2.98 x 60% =

8.78 x70% =

6.01 x 30% =

3.71 x40% =

1.98 X 10% =

4.15 x 10% =
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TRHAG P UTA=Id &I 0T B

3.16 x 40% = 1.264

2.28 x 60% = 1.368

2.52 x 30% = 0.756

248 x70% = 1.736

7.4 x 60% = 4.44

4.59 x 90% = 4.131

0.21 x70% = 0.147

6.6 x 30% = 1.98

2.65 x 10% = 0.265

7.47 x70% = 5.229

faTiep:

9.92 x 90% = 8.928

9.55 x40% = 3.82

1.91 x 50% = 0.955

5.92 x30% = 1.776

2.98 x 60% = 1.788

8.78 x70% = 6.146

6.01 x 30% = 1.803

3.71 x40% = 1.484

1.98 x 10% = 0.198

4.15 x 10% = 0.415
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